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P 100kN/mM%{BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
FhLst 1.00 | 0.00 ~ 541 67.55 | TS (000 ~ 6541 1.74 9.30 FhnLst 1.00 | 6.00 ~ 6.90 67.656 | NS | 6.00 ~ 5.90| 1.74 9.30
2 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3mE{BZ B - ~ — — —
FhLst 1.00 | 0.00 ~ 6.63 83.70 | =nst | 000 ~ 663 1.93 10.32 FhnLst 1.00 | 6.00 ~ 853 83.70 | #ns | 65,00 ~ 853| 1.93 10.32
3 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3m#E{BZ B - ~ — — —
FhLst 1.00 | 0.00 ~ 7.02 89.01 | =ns | 0oo ~ 702|197 10.62 FhLst 1.00 | 6.00 ~ 9.62 89.01 | #hst | 6,00 ~ 9.62| 1.97 10.62
4 100kN/mM%#BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mMZE#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 7.69 9864 | =nS | 000 ~ 7.69| 2.30 12.531 ThList 1.00 | 6.00 ~ 1053 98.64 | =nhS | 5,00 ~ 1053| 2.50 12.531
5 100kN/m%E#8z5 | 1.00 | 000 ~ 1.62| 124.78 |3mZz#Bz3| — ~ — — — | 100kN/M%#BZ3 | .00 | 11.58 ~ 2006| 12478 |3m&E#Z5 - ~ — — —
s 1.00 | 1.62 ~ 9.41 100.00 | 0S| 0.00 ~ 941|247 13.21 s 1.00 | 6.00 ~ 1158 100.00 | =nhst | 6.00 ~ 2006| 2.47 13.21
P 100kN/m%x 25| 1.00 | 000 ~ 249 139.03 |3mZz#Ez3| — ~ — — — | 100kN/mMZ&#z25 | 1.00 | 1053 ~ 2130 139.03 |3mZEiBZ5 - ~ — — —
FhLst 1.00 | 249 ~ 1028 100.00 | FnLS | 0.00 ~ 1028 2.71 14.51 FhLst 1.00 | 6.00 ~ 1053 100.00| NS | .00 ~ 2130 2.71 14.51
7 100kN/m%E#B25 | 1.00| 000 ~ 1.48| 122568 |3mZxB2B| — ~ — — — | 100kN/m%z#%25 | 1.00 | 1062 ~ 1588 12258 |3mEiBZ5 - ~ — — —
Thilst 100|148 ~ 927 100.00| #nbs | 000 ~ 9.27| 231 12.54 Thilst 100|500 ~ 1062 100.00 | Fnps | 500 ~ 1588| 2.31 12.34
P 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3mE{BZ B - ~ — — —
zhs 1.00 | 000 ~ 477 59.50 | #nhst | 000 ~ 0.00)| 1.71 9.18 zhst 1.00 | 6.00 ~ 5.00 59.50 | #hst | .00 ~ 5.00| 1.71 9.18
100kN/mM%{8Z. 5 ~ ImERBAD ~ 100kN/m##8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ IMEEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m##8 %% ~ IMEBZD ~
zhs ~ st ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/mM%{BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ st ~
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